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T4 | HE49 7THEN\SHHIX 1 — 2 TRHRERTHE

TEHX4y « Tfd - FER B Az ¥ = & #A #m il N BN
JE O R 2 1 72, 548, 174
EHET = 1 4,945, 860
AR LT Y 1 4,945,860 | MR (BLER) RS+ 1, 600 m3
4. 0mPL | ;
R ESER 1, 820 m3
b G- ERIRY L&)
FEIA (=27) 1, 800 m3
+ 50, 000m3AT ;
AR B T Y 1 66, 119, 444
[ T Y 1 66, 119, 444 |A7)-fHHE 102 7N

VIRELEH Bk L) 220kg/m3 HLEE 1800
mm EXJTHE) 9.5m EXWLE) 8.5m ;

A7) -HHE 30 N
VIRELEH Bk L) 220kg/m3 HLEE 1800
mm £ FTRE) 9m KRS FiR) 8m ;

A7) =R 73 N
VIRECE (kL) 220kg/m3 HLEE 1800
mm EXJTHE) 8.5m EXWLE) 7.5m ;

A7) =R 18 N
VIRECE Bk L) 260kg/m3 FLEE 1800
mm £ FTRE) 7.68m £ HiE) 5.2m

X?'H")%:# 76 VN
A RELHT (B3R H)  260kg/m3 AifE 1800
mm £ FTRE) 7.68m £ FiE) 4.6m

X?'H")%:# 29 VN
A RELHT (F5k L H)  290keg/m3 AifE 1800
mm £ FTRE) 7.63m £ HiE) 3.9m
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TEHX4y « Tfd - FER B Az W B & #A i il BN
HEYE T = 1 114, 430
s EEE L T = 1 80,810 |av/)-MEEWEUE L 10 m3
EAEAETEY) FEMOE T ;
TE LB T =Y 1 33,620 | BoEM 10 m3
/) -k (BERR)
RISy 10 m3
20—k (SRR
A Y 1 1, 368, 440
VE#IE 1k T Y 1 1,223,840 | F/AKALEE G i 1 =
AEEHE T Y 1 144, 600 | A2 FHEZAE S 1 =
[ERAE Xy = 1 72, 548, 174
IR 2 1 12, 982, 300
Hom it = 1 5, 459, 300
TE R = 1 4,691, 000 | B R G AN o3 AR ST 16 22 1 =
HeffrE sy = 1 7,300 | A e HERBRE 1 =
BGRESCGES (5 1) = 1 761, 000
B (FEHL) = 1 7,523, 000
T = 1 85, 530, 474
Bl gy 2 1 26, 931, 000
T =5l = 1 112, 461, 474
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THX 4y - THE - flR B Az W B & HH i il R
— R A 2 1 18, 978, 526
TS 2 1 131, 440, 000
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